



(An Autonomous Institution)
Coimbatore – 35

### DEPARTMENT OF MATHEMATICS UNIT-I FOURIER SERIES

### Half Range series :-

Sine series:

The hay-lange sine series of zen) defined in the interval exacts is given by

from = 50 bor sin nor where  $b_n = \frac{2}{\pi} \int_{-\pi}^{\pi} y(x) \sin nx \, dx$ .

1) Empress f(n)=n(11-n), ornati as a found series of periodicity 'Ti' Containing (i) sine terms

Soln! Let 
$$f(n) = \sum_{n=1}^{\infty} b_n rinnn .$$

Now  $b_n = \frac{2}{\pi i} \int_{0}^{\pi i} f(n) rinnn dn$ 

$$= \frac{2}{\pi i} \int_{0}^{\pi i} n(\pi - n) rinnn dn$$

$$= \frac{2}{\pi i} \int_{0}^{\pi i} (\pi - n^2) rinnn dn$$





(An Autonomous Institution)
Coimbatore – 35

# DEPARTMENT OF MATHEMATICS UNIT-1 FOURIER SERIES

$$= \frac{2}{\pi i} \left[ (n\pi - n^2) \left( \frac{-\alpha s n m}{n} \right) - (\pi - 2n) \left( \frac{-\alpha s n m}{n^2} \right) + (-2) \left( \frac{\alpha s m}{n^3} \right) \right]$$

$$= \frac{2}{\pi i} \left[ 0 - \frac{2 \alpha s n \pi}{n^3} - (0 - 2 \frac{\alpha s o}{n^3}) \right]$$

$$= \frac{2}{\pi i} \left[ -\frac{2(-1)^n}{n^3} + \frac{2}{n^3} \right]$$

$$= \frac{4}{\pi i} \left[ -(-1)^n + 1 \right]$$

$$= \frac{4}{\pi i} \left[ -(-1)^n + 1 \right]$$

$$= \frac{2}{\pi i} \left[ -(-1)^n + 1 \right]$$

$$= \frac{2}{\pi} \left[ \int_{0}^{\pi} \frac{1}{\pi} \frac{1}{\pi} dn + \int_{\pi/2}^{\pi} \frac{1}{\pi} (\pi - \pi) dn \right]$$

$$= \frac{2}{\pi} \left[ \frac{\pi}{4} \left[ \frac{m^{2}}{2} \right]_{0}^{\pi/2} + \frac{\pi}{4} \left[ \pi n - \frac{m^{2}}{2} \right]_{\pi/2}^{\pi} \right]$$

$$= \frac{2}{\pi} \left[ \frac{\pi}{4} \cdot \frac{\pi^{2}}{8} + \frac{\pi}{4} \left( \left( \pi^{2} - \frac{\pi^{2}}{2} \right) - \left( \frac{\pi}{2} - \frac{\pi^{2}}{8} \right) \right) \right]$$

$$= \frac{2}{\pi} \left[ \frac{\pi^{3}}{32} + \frac{\pi^{3}}{8} - \frac{3\pi^{3}}{32} \right]$$





(An Autonomous Institution)
Coimbatore – 35

# DEPARTMENT OF MATHEMATICS UNIT-I FOURIER SERIES

$$= \frac{2}{\pi} \left[ \frac{\pi^{3}}{8} - \frac{2\pi^{3}}{3\sigma_{h}} \right]$$

$$= \frac{2}{\pi} \cdot \frac{\pi^{2}}{168} = \frac{\pi^{2}}{8}$$

$$a_{1} = \frac{2}{\pi} \cdot \int_{0}^{\pi} \frac{\pi^{2}}{4\pi} \cos n\pi dn + \int_{\pi_{2}}^{\pi} \frac{\pi}{4\pi} (\pi - n) \cos n\pi dn \right]$$

$$= \frac{2}{\pi} \cdot \left[ \frac{\pi}{4} \cdot \left[ \frac{n \sin n\pi}{n} - 1 \left( -\frac{u \sin n\pi}{n^{2}} \right) \right] \right] + \frac{1}{\pi^{2}}$$

$$= \frac{2}{\pi} \cdot \frac{\pi}{4\pi} \cdot \left[ \frac{n \sin n\pi}{n} - (-1) \left( -\frac{u \sin n\pi}{n^{2}} \right) \right] \right]$$

$$= \frac{2}{\pi} \cdot \frac{\pi}{4\pi} \cdot \left[ \frac{n \sin n\pi}{n} + \frac{u \sin n\pi}{n} - \frac{u \cos n\pi}{n^{2}} \right] + \frac{1}{\pi^{2}} \cdot \left[ \frac{n \sin n\pi}{n^{2}} + \frac{u \sin n\pi}{n^{2}} - \frac{u \sin n\pi}{n^{2}} \right]$$

$$= \frac{1}{2} \cdot \left[ \frac{\pi}{2} \cdot \frac{\sin n\pi}{n^{2}} - \frac{1}{n^{2}} - \frac{(-1)^{n}}{n^{2}} - \frac{\pi^{2} \sin n\pi}{n^{2}} \right]$$

$$= \frac{1}{2} \cdot \left[ \frac{2 \cdot u \cdot n\pi}{n^{2}} - 1 - (-1)^{n} \right] \cdot \frac{1}{n^{2}}$$

$$= \frac{1}{2} \cdot \left[ \frac{2 \cdot u \cdot n\pi}{n^{2}} - 1 - (-1)^{n} \right] \cdot \frac{1}{n^{2}} \cdot \frac{$$





(An Autonomous Institution)
Coimbatore – 35

## DEPARTMENT OF MATHEMATICS UNIT-I FOURIER SERIES

Sine series:

The half range sine Socies in the interval (0,1) is equien by  $f(n) = \sum_{n=1}^{\infty} b_n \Re m m n$ .

Where  $b_n = \frac{2}{3} \int_{-\infty}^{\infty} f(n) \Re m m n$  on.

Find the fourier seeres enpansion for f(n)=n in (o,l)  $\frac{dn}{dn}$ . Let  $f(n)=\frac{d}{dn}$  be  $\frac{d}{dn}$ .

Now 
$$b_n = \frac{2}{l} \int_{0}^{l} \eta_{l} \sin \frac{\eta_{l}}{\eta_{l}} \eta_{l} d\eta$$

$$= \frac{2}{l} \int_{0}^{l} n \sin \frac{\eta_{l}}{\eta_{l}} \eta_{l} d\eta.$$

$$= \frac{2}{l} \left[ n \left( -\frac{\alpha s (n \eta_{l})}{n \eta_{l}} \right) n \right] - (1) \left( -\frac{\alpha r_{l} (n \eta_{l})}{n \eta_{l}} \right) \eta \right] d\eta.$$

$$= \frac{2}{l} \left[ -l \cdot \frac{\alpha s n \eta_{l}}{n \eta_{l}} \right]$$

$$= -\frac{2}{l} \left[ -l \cdot \frac{\alpha s n \eta_{l}}{n \eta_{l}} \right]$$

$$= -\frac{2}{l} \left[ -l \cdot \frac{\alpha s n \eta_{l}}{n \eta_{l}} \right]$$